NAIR Assistant Signal N Telecom Engineer ASTE

Topic:- ASTE_PA_NAIR25FEB

) If Distant signal in ‘Double Distant territory’ display ‘Proceed aspect’, it
indicates

ufe sad foxce el § Toxde Rurer uRiis srdae ueiRfia st g, ot
Ug T A Sl o

[Question ID = 111][Question Description = Q01_ASTE_PA_NAIR25FEB]
. Run through on main line / 89 @i WX 3H

[Option ID = 441]

2. Run through on loop line / ¢f4 ¢fig- Y X 3

[Option ID = 442]
, Run through on main line or the train is going to be received on
Main line / T+ @139 UR -3 A1 ¢ T elg 9= U1 gl drcil &

[Option ID = 443]

. None of the options given is correct / ﬁE{TﬂI{ fadedl 69 qvlsr i Gﬁ:@
®

[Option ID = 444]

Correct Answer :-

Run through on main line or the train is going to be received on

) Main line / 7 T3 UR I-3 A1 ¢ A dig+ UR WIS §i+ drcil &

[Option ID = 443]

2) When a Loco Pilot finds an Automatic Stop signal with an 'A'
marker at “ON”, Loco Pilot shall wait there for minutes by
night
ofd A ] grgde &l “3{1 U U HDR & U1y U dlleld g Rd
SEdl g, Al Al gmae g H | fie d dgi uehan s

[Question ID = 112][Question Description = Q02_ASTE_PA_NAIR25FEB]

1. One Minute / U& 8¢

[Option ID = 445]

2. Two Minutes / &l fHF¢

[Option ID = 446]

3. Three Minutes / di- T8¢

[Option ID = 447]

4. Five Minutes / 9id f&He

[Option ID = 448]

Correct Answer :-



« Two Minutes / &l [&H¢

[Option ID = 446]

) For speeds in excess of 15 kmph, for more than 3 diversions on any
side of the main line, the type of route indicator to be provided as per
IRSEM is

15 fobHt ufd de ¥ sifre @1 fd & fog, go1 g & fod diags 3 ¥
3Hf¥d ST & [¢1Y, JMSAHRTHSLH & HTHR UaH 6T oM dred e
3fEhex B PR 31 8?

[Question ID = 113][Question Description = Q03_ASTE_PA_NAIR25FEB]
- Direction Type / fG2T U&HR

[Option ID = 449]

2. Direction Type with LED Matrix / Teig el Hicad & Ty {1 UhR
[Option ID = 450]

3 Multi lamp / Hecl g

[Option ID = 451]

, Any I?oute Indicator of approved design / Gﬂﬂliaﬂ IEGIIE:I arﬁ%
1 Hbad
[Option ID = 452]

Correct Answer :-

* Direction Type with LED Matrix / Taga! Hicad & 1 fa= UHR

[Option ID = 450]

When the shunt signal and calling on signal are provided below stop
signal, the sequence of fixing from top is

oTd e U R HITe-317 fbga wiY fgd & - QU ad €, @ 3R
3 Tt laRiT b1 shH 1 Bldl 872
[Question ID = 114][Question Description = Q04_ASTE_PA_NAIR25FEB]
. Stop signal, Calling-On signal, then Shunt signal /E‘IJ‘C[W‘AEL
PITeiT-3{1-T FEErer, fh e Rua
[Option ID = 453]
Stop signal, Shunt signal, then Calling-On signal | 19 f49d, e
[Option ID = 454]

3. Not possible / THd gl

2.

[Option ID = 455]

4. Any sequence is acceptable fﬁ'ﬁc f HH Wierd %

[Option ID = 456]

Correct Answer :-



. Stop signal, Calling-On signal, then Shunt signal ;@‘qﬁm,
BIfeT-311 f&ud, b ge o

[Option ID = 453]

For a Track circuit length up to 700 mts, what is the maximum
permissible rail resistance of rail and bonding allowed

700 HIER TF & ¢ Hidhe DI ddlg & (014, I R dI-aT & AT
3y Yol ufaRly &t sHd R 8

[Question ID = 115][Question Description = Q05_ASTE_PA_NAIR25FEB]

" 0.5 ohms per 1000 mts / 0.5 319 "fd 1000 Hier
[Option ID = 457]

2. 1.5 ohms per 1000 mts / 1.5 317 Wid 1000 HicR

[Option ID = 458]

3. 1.0 ohm per 1000 mts / 1.0 318 Ui 1000 Hiex
[Option ID = 459]

4. 2.0 ohms per 1000 mts / 2.0 317 Ufd 1000 Hiex
[Option ID = 460]

Correct Answer :-

* 1.5 ohms per 1000 mts / 1.5 317 Wid 1000 Hic?

[Option ID = 458]

The distance between the signal and the mast in front of it shall not be
less than

e 3R 39 UH- AR & o g DI gl 398 HH A8l gl

[Question ID = 116][Question Description = Q06_ASTE_PA_NAIR25FEB]
- 10 metres / {3

[Option ID = 461]
2. 30 metres / HieX
[Option ID = 462]

3. 40 metres / HieX
[Option ID = 463]

4 50 metres / Hiex
[Option ID = 464]

Correct Answer :-

* 30 metres / Hic?

[Option ID = 462]



7Y Number of signalling sections that are required to be clear to get

caution aspect in four aspect Automatic Block signalling is
IR W WGAICId sald (el H FaYTH e Ud H3 & fag
RafeT s &1 Wer 5l Wy g+ &l gy g, bl g

[Question ID = 117][Question Description = Q07_ASTE_PA_NAIR25FEB]

. 4+ overlap / 4 + 3{aey

[Option ID = 465]
2 3+overlap/3 + 3faeg

[Option ID = 466]

3. 2 +overlap / 2 + 3fld%ed

[Option ID = 467]

“ 1+overtap/ 1+ 3fjdvaly
[Option ID = 468]

Correct Answer :-

* 1 +overlap / 1 + 3{ld3cd

[Option ID = 468]

As per standardised circuits for El, if DG lamp of home Signal with
cascading gets fused, indication on VDU of Station Master for home
signal when signals are taken for a run through movement is

$ars & e HFegd Afde  oFUR, af Pl &y e Rwa

T Sielt o0 TS g ST &, o eI Femd & faw w9H Anex & 48l

] Hebd feaTg el © o e D1 3 Y HaHe & g fern @il ©
[Question ID = 118][Question Description = Q08_ASTE_PA_NAIR25FEB]

Steady yellow indication appears on signal / Rad R RRR gien

1. ,
Yabd feETg &l &
[Option ID = 469]
Green indication starts flashing and steady Yellow indication
2. appears on signal / 83 Jbd IHH- adl § 3R RFd IR a R
el Tpd fe@rs o T &
[Option ID = 470] .
Only Green Indication flashes on signal / T899 UR hdd g Tehd
THGHAl §
[Option ID = 471]

Steady red indication appears on signal | Fod IR RR @1d daha

" fewrd aare

[Option ID = 472]

3.

Correct Answer :-



Green indication starts flashing and steady Yellow indication

« appears on signal / g1 Hdhd IH® ddl & 3R RUd IR @aR
el Havd fodrs o aral &

[Option ID = 470]

9> In an electronic interlocking system, which of the following are taken
as Vital outputs ?

golaciie Sexellidil Ried #, Fafifad & O f6d diged si3cye &
&Y H forn S 82

[Question ID = 119][Question Description = Q09_ASTE_PA_NAIR25FEB]
. TPRs /¢ldlaR

[Option ID = 473]
2 ECR's/ é@ilaﬂ?
[Option ID = 474]

3 Buttons / 9cd
[Option ID = 475]

4+ HR, DR/ TH3R, SI3R
[Option ID = 476]

Correct Answer :-

* HR, DR /TH3{R, B3R

[Option ID = 476]

19 In an electronic interlocking system, Object Controller is connected to
‘El' through which of the following type of cables

TS Sedeli-d gexdlin T Ried #, sfisolde defer 9 6y yoR
& Had P AL Y SIS’ T 98T g1 82

[Question ID = 120][Question Description = Q10_ASTE_PA_NAIR25FEB]

- Only Copper Cables / hdd HBIUR b

[Option ID = 477]

2. Copper or optical fibre cables / HIUR 4T JHiPhd HIgaR dad
[Option ID = 478]

3. Only Optical fibre Cables / Hdd 3HPHd BIgeR had

[Option ID = 479]
It depends on the make of El system / dg §3ﬂ§ Reew @t g-@e
R AR a8
[Option ID = 480]

Correct Answer :-

« Only Optical fibre Cables / Hdd HI[PhHd HIgEx dad



[Option ID = 479]

") Executive software of an electronic interlocking system is / sﬂﬂﬂjﬁfﬁ
ZeaiTeht] RIeH BT SIHR Aed o
[Question ID = 121][Question Description = Q11_ASTE_PA_NAIR25FEB]
1 Common to same model of same OEM / HHI- W%W
Hied o fow gy

[Option ID = 481]

2. Common to different OEMs / fafirsr aigun & forg g

[Option ID = 482]
Different to different stations even for same model of same OEM /

U ol 35U & U ol Hisd b g Hi evT-2fei e

[Option ID = 483]

4. Similar to Application software / TR =I- HHedOR & G

[Option ID = 484]

3.

Correct Answer :-

. Common to same model of same OEM / dHI BﬁéQHaFW
Hled & o gy

[Option ID = 481]

12) Changeover of El system shall be done from Main to Hot Standby and
vice-versa once —---—-- -- under the supervision of sectional SSE/JE
when there is no train movement in the yard.

gg YT o3 & €l b 918 | Bl5 ¢ &1 SMdele] 8l 8, 213 ReH
&1 URGa B 9 gic W e AR U [ausia #§ YaRre TuuE/as &1
a@vy H e fa-1 # ue aR fehar smem?
[Question ID = 122][Question Description = Q12_ASTE_PA_NAIR25FEB]
. 15 days / 15 fe
[Option ID = 485]

2. Monthly / ATIRTEH

[Option ID = 486]

. Quarterly / FHTRIS
[Option ID = 487]

4. Half yearly / 3i¢iaiitie

[Option ID = 488]

Correct Answer :-

* Monthly / 91l¥1&



[Option ID = 486]

In an electronic interlocking system,protocol converter is used to
interface between

Sl -@ SedllDhl R 1, Hieidid d-dcx Bl 9gi]
% did Sy B & (U [hal STl &

[Question ID = 123][Question Description = Q13_ASTE_PA_NAIR25FEB]

. Panel and Panel Processor / U-d 3 Ud YR

[Option ID = 489]

2. Object Controllers / 3{isolde T3S

[Option ID = 490]

3. El and Datalogger f§3ﬂ§ 3R SR

[Option ID = 491]

4 CIU and OC /H13M3y 3MR 3l

[Option ID = 492]

Correct Answer :-

* El and Datalogger !EF&ﬂﬁ 3R SR

[Option ID = 491]

Which relay is permitted to be used as the repeater for immunised
‘Q’ series frack relays

o Rel &1 ulcRfard @ g@dl ¢ R & ot gRiads & =0 § Iudi]
P B Al 82

[Question ID = 124][Question Description = Q14_ASTE_PA_NAIR25FEB]

. QSPA1/ aguydiu

[Option ID = 493]
2. QSRA1T / RUHSHRTT

[Option ID = 494]

. QBAT / Fgdiud]

[Option ID = 495]
4. QNA1/ HEAU

[Option ID = 496]

Correct Answer :-

*  QSPA1/9guygdiut

[Option ID = 493]



13) By providing QBAT relay, track length can be increased up to -—--

Feudt Rel UeH @ ¢ &l didls —— d dgls ol vl o.

[Question ID = 125][Question Description = Q15_ASTE_PA_NAIR25FEB]
1. 350 m

[Option ID = 497]

2. 450 m

[Option ID = 498]
3. 780m

[Option ID = 499]
41000 m

[Option ID = 500]
Correct Answer :-

e 750 m

[Option ID = 499]

The maximum stroke of IRS CLAMP TYPE Point machine is
3TSARTY FiY €154 Wise TR &1 ¥dad €ih e

[Question ID = 126][Question Description = Q16_ASTE_PA_NAIR25FEB]
1. 143mm

[Option ID = 501]

2. 220mm

[Option ID = 502]
3 160mm

[Option ID = 503]
4 115mm

[Option ID = 504]

Correct Answer :-

e 220mm

[Option ID = 502]

7) In Intermediate Block Signalling, the Block overlap beyond the IB
Signal shall be

SexHifeUe sl Rl d, sigdl Riyd @ R sl sfiaray ghn
[Question ID = 127][Question Description = Q17_ASTE_PA_NAIR25FEB]

. 180 metres / HieX



[Option ID = 505]

2. 400 metres / Hiex

[Option ID = 506]

3. 120 metres / Hiex

[Option ID = 507]
4.
Zero / ¥
[Option ID = 508]
Correct Answer :-

* 400 metres / Hiex

[Option ID = 506]

In Intermediate Block Signalling system with HASSDAC, the axle
counter evaluator equipment for second block section is provided at

HASSDAC @ WY $exHITSTe sl RAfelT RRed H, gER <l HaeH
& foTQ Tayd BTIer SdegUe’ IUB gl UGH [har eidi g 2
[Question ID = 128][Question Description = Q18_ASTE_PA_NAIR25FEB]

1. At train sending end only / ®dd ¢ & HST TS T

[Option ID = 509]
2. At Train receiving end only | ad E?l o [EifdT e i)
[Option ID = 510]
3. At both ends / EIHI U8 |R
[Option ID = 511]
, Ateither sending end or at receiving end / 1 dcIH ASTTE W
a1 ¢ & RdifdT us i
[Option ID = 512]

Correct Answer :-
* Atboth ends / GHI T8 WX

[Option ID = 511]

19 How many times a block instrument allowed to be overhauled in a

S&T Woarkshop
R 9 SHIR SREH H UP sl IUHR0l bl HTbdH fha- ar
HIGRGITHT HR Tl ©

[Question ID = 192][Question Description = Q19_ASTE_PA_NAIR25FEB]

1. Only once / &dd U dR

[Option ID = 765]

2. Only two times / &dd &l dR

[Option ID = 766]

3. Only three times / &dd <l dR




[Option ID = 767]
4 Any number of times [ Tl é’[ CIES

[Option ID = 768]

Correct Answer :-
* Only two times / $ad &l IR

[Option ID = 766]

When is SSDAC is used with block working for proving the clearance
of a block section, the type of reset used is

fell scilch YauH &1 Fed &1 Uifdd 34 & (WU sdid gl & a1y
SSDAC &1 39Ul & d [yl SIdl g, UL [T SH drel SRIE &l UHR
%,.

[Question ID = 130][Question Description = Q20_ASTE_PA_NAIR25FEB]

. Direct Hard Reset / S1ae gTs I9¢
[Option ID = 517]

2. Conditional Hard Reset / ald 816 I8¢

[Option ID = 518] _

3 Preparatory Reset / et dde
[Option ID = 519]

4. Supervisory auto reset / WG@ el e
[Option ID = 520]

Correct Answer :-

* Preparatory Reset / liqRed e

[Option ID = 519]

Example for Indicative accidents is
Sfedhicd gHeISH BT Iae v ¢
[Question ID = 131][Question Description = Q21_ASTE_PA_NAIR25FEB]

Death of passenger or Railway worker / Gl 1 ¥dd HHAR] &1
Hg

[Option ID = 521]
,  Serious injuries to passenger or Railway worker / O a1 Ydd
HHART B 1R =1
[Option ID = 522]
, Obstruction in Rail traffic for more than 24 hours / 24 H¢ ¥ 3ff&/
HHY deh ¥ ATd1aTd H a1l
[Option ID = 523]

4. SPAD / THYIUSTH

[Option ID = 524]



Correct Answer :-

« SPAD /ugdus]

[Option ID = 524]

In the IR ATP system(Kavach), the maximum distance between two
normal tags provided in block section shall not be more than

AR Tl Red (@d=) ¥, <l Yo J Uar T 7T af 9 e
& di i dH gl Y 3@ Al sl

[Question ID = 132][Question Description = Q22_ASTE_PA_NAIR25FEB]

1000 m

[Option ID = 525]

2. 2000 m

[Option ID = 526]
3+ 3000 m

[Option ID = 527]

45000 m

[Option ID = 528]
Correct Answer :-
* 1000 m

[Option ID = 525]

23)  In the IR ATP system(Kavach), ‘ KMS * used for Security of radio
communication between Stationary KAVACH and Loco KAVACH
means

3SR WUl RRed (@aa) §, T3] $dd 3R did] $dd & g sl
YAR &1 & & (o0 HuHuy &1 39ghT 641 SIdl 6. KMS &1 Jdad
e

[Question ID = 133][Question Description = Q23_ASTE_PA_NAIR25FEB]

1. Key Management System / B B5He Red

[Option ID = 529]
2. Kilometres Management System/ fberidiey H-ude ey

[Option ID = 530]

3. Kavach Management System/ Had THefe ey

[Option ID = 531]
4 Knowledge Management system / Ao A e ey

[Option ID = 532]

Correct Answer :-

* Key Management System | Bl TS e Reed



[Option ID = 529]

24)  As Mentioned in IR SEM, the pre-commissioning check lists for
important signalling equipments like El shall be verified and counter
signed respectively by which of the following level of officials ?

ST b SIS 3R TS UH H Ieuid faodr 11 g, 3313 oI Hgadgul e
JUHRN & [Q1T Y- =epiene & fafeiad § ¥ oy TR &
SHIUHINAT GRT hHRI: AT 3R Uldgwdraid fbar sm?
[Question ID = 134][Question Description = Q24_ASTE_PA_NAIR25FEB]
. Concerned supervisor and OEMs representative / e fed e iR
OEM Yfdffa

[Option ID = 533]

. Field ADSTE/DSTE and DyCSTE/Sr.DSTE / Bitg UsIudcis/sIgacs
IR feriTadm Al Sivads

[Option ID = 534]

Concerned supervisor and Field ADSTE/DSTE / Ssfed THd&i® 3R

[Option ID = 535]

DyCSTE/Sr.DSTE and CSE or CSTE/Proj or Construction /

* YT ARR Suudts ofR diews o1 Yoadsmeiae 4 i

[Option ID = 536]

Correct Answer :-

. Field ADSTE/DSTE and DyCSTE/Sr.DSTE / %its UalTHcTs/SITucly
IR feriTadmAdimR Sivads

[Option ID = 534]

If validity duration of sanction is not specified while sanctioning a
signalling work by CRS, then such sanction is valid for a period

gfe SRy gRT Rl Hrd o forg widld yar oed a9y Wield @l
deydT Ay =gt @1 Sl 8, i Aol fha- afafe & ferg de gt §

[Question ID = 135][Question Description = Q25_ASTE_PA_NAIR25FEB]

1. Unlimited / 38T

[Option ID = 537]

2. Three months / A<l Aol
[Option ID = 538]

3 Six months / B¢ dgl-
[Option ID = 539]

4. Twelve months / §RE He
[Option ID = 540]

Correct Answer :-



* Twelve months / Eiﬂ?;’ﬂ—fﬁa(

[Option ID = 540]

For running trains at 130 kmph, the minimum standard of interlocking
to be provided in stations in the section is

130 fdl ufd ©¢ &1 TR ° misal o 9dMq & e, Ga-H J WeHE )
SeRAld] DI YAdH Tiss H1 &

[Question ID = 136][Question Description = Q26_ASTE_PA_NAIR25FEB]

. Standard | / ITSS |
[Option ID = 541]

2 Standard Il/ 1SS I

[Option ID = 542]

3. Standardlll / &183 I

[Option ID = 543]

4 Standard IV/ 88 IV
[Option ID = 544]

Correct Answer :-

* Standardlll / 183 Il

[Option ID = 543]

Approach locking, back locking and locking of conflicting signals are
reflected in

I @i, deb @il 3R REQR [aR1et Rwdl &1 @il wal fdamr
EIGIE
[Question ID = 137][Question Description = Q27_ASTE_PA_NAIR25FEB]

" Table of control / Selection Table / ¢&¢ 3{TH Dl Ycid- caal

[Option ID = 545]
2. Signalling plan / AT e

[Option ID = 546]

3- route plan / ¥ ¢ Wl

[Option ID = 547]

“ SWOD / THSscgaiis!
[Option ID = 548]

Correct Answer :-

* Table of control / Selection Table / ¢€¢ 3t dclel/ YclaR- cda

[Option ID = 545]




28) " In Colour Light Signalling with LED signals in Non - blanking mode, a
Main Signal Lighting Unit shall remain lit when illumination falls to a
value which is not less than 40% of nominal illumination due to a
failure or any other reason. In such case to ensure dropping of ECR,
input current drawn by current regulator shall be limited to

Ai--sctfchi1 His H Uiyl [Hyd & 91y weR drge ¥yl ), vh 1=
o arsfdn give a9 do el el oid db A1 bl fqmherdr 4T
il 30 BRUI Y A AT & 40% O HH A g1, U8 HAHd H S8R
&I ST AT HA & e, DHic WeleR gRI S Dl 715 7Y HIe Bl
Tl do itrd febar e,

[Question ID = 138][Question Description = Q28_ASTE_PA_NAIR25FEB]

. less than 20 mA /20 9 &H

[Option ID = 549]
2 |ess than 30 mA/30 § &H
[Option ID = 550]

3. less than 40 mA/ 40 ¥ &H
[Option ID = 551]

4 |ess than 50mA/ 50 T &Y
[Option ID = 552]

Correct Answer :-

* less than 40 mA/ 40 9 &H

[Option ID = 551]

29) " The number of quads required for working of UFSBI in Double line
along with Up & Down BPAC is
HY AR SI3 dUiwdl & 91Y S9d digd § QUHTHETHTE & B HI &
foie sirawyg® &1s & Y& §
[Question ID = 139][Question Description = Q29_ASTE_PA_NAIR25FEB]
" One quad / Uh ®IS
[Option ID = 553]

2. One and half quad / ¢ &S

[Option ID = 554]

3. Two quad / a4l IS
[Option ID = 555]

4 Two and Half quad / T3 @18
[Option ID = 556]

Correct Answer :-

* Two and Half quad / T ®18

[Option ID = 556]



39 Which of the following with respect to Ferro Resonant AVR used for
stabilising ac supply is not True

udl 3rgfd ol [RR & & ferw Iugi fabu i1+ died TRl Yeii-ie TdleR &
ey o fgfafad O 9 & 91 91 9g1 el o
[Question ID = 140][Question Description = Q30_ASTE_PA_NAIR25FEB]
- Complete automatic and continuous regulation f‘{UTE?ITﬁ*IH 3R
R fafgea
[Option ID = 557]

2. Immune to short circuit at output / 3{13cYc R QiI¢ Tlche I wiaved

[Option ID = 558]

3. Self-protection against overload / HAUR & d%g X cf:-XElT

[Option ID = 559]

Output voltage is independent of frequency variation / 3{I3cYc
diecol widdl e 4 Wdd g

[Option ID = 560]

1

4.

Correct Answer :-

Output voltage is independent of frequency variation / #H{I3cYc
dices Wil [Hadr 8 Wdd &

[Option ID = 560]

3D The Telecom quad cable should be laid in which type of pipes on
opposite side of the track to a Traction Sub-station

CHIDIH TS B B CaRH Ya-XC=[ & ¢ b [dURId o= | [y
UHR @& g5y 1 fd&mn Sl 9ifgd ?
[Question ID = 141][Question Description = Q31_ASTE_PA_NAIR25FEB]

. Gl pipe / SI3({ U5y

[Option ID = 561]
2. RCC pipe / RS O2Y
[Option ID = 562]
3 PVC pipe / dididt ursy
[Option ID = 563]
4 None of the options is true / aﬁé W fdpeg 3l :Fbp[ %’
[Option ID = 564]
Correct Answer :-
* RCC pipe / 3REH! U2y

[Option ID = 562]

*? Characteristic impedance of PIJF pair cable is

PIJF SiiS! had & f[a2Nd Uidere e

[Question ID = 142][Question Description = Q32_ASTE_PA_NAIR25FEB]



-

600 ohms / 31TH

[Option ID = 565]

. 1120 ohms / 3[1H
[Option ID = 566]

470 ohms / 3{H

N

w

[Option ID = 567]

56 ohms / 3{H

>

[Option ID = 568]

Correct Answer :-

* 600 ohms / 3

[Option ID = 565]

33)  Characteristics of good earthing system are
3wy Ui RRew of faviva g
[Question ID = 143][Question Description = Q33_ASTE_PA_NAIR25FEB]

" Excellent Electrical Conductivity / 3@ ¥ [dedd dsiacidic

[Option ID = 569]

2. High Corrosion Resistance / 3= H&RU[ ISIEIL]
[Option ID = 570]

3 Mechanically Robust and Reliable / T3ad TRIed 3R fa@=ig
[Option ID = 571]

4 All of the options are true [ GHT WG@T %
[Option ID = 572]

Correct Answer :-

* All of the options are true / 94! [dded gl g

[Option ID = 572]

34) In simplex mode, data communication between two devices is

e A Al fSagg & o ST daR eldT o

[Question ID = 144][Question Description = Q34_ASTE_PA_NAIR25FEB]

- Unidirectional / g STaRd

[Option ID = 573]

2. Bj directional / ST3SENERH

[Option ID = 574]
3 Multi directional / Hed ISTOYaRd

[Option ID = 575]

4. none of the options is correct / ﬁé 1t faweq Tel el %

[Option ID = 576]

Correct Answer :-



* Unidirectional / gfTSTaRa=-d

[Option ID = 573]

In Data communication, which of the following systems allows Fast
Transfer of data rates between two device

Sl AR ¥, (Fyfataa O 9 14 a1 ey gl (&agy & &g sl e &
ol ¥ gataRoT Bt Al S 82

[Question ID = 145][Question Description = Q35_ASTE_PA_NAIR25FEB]
" Parallel Communication / GRTdd YdR

[Option ID = 577]

2. Serial communication / IRTd 4R

[Option ID = 578]

3. Multiple communication / 3{-& T4
[Option ID = 579]

4. Ring Communication / 7T §9R
[Option ID = 580]

Correct Answer :-

* Parallel Communication / IRTdd TER

[Option ID = 577]

36)  Ethernet uses a physical address that is imprinted on the network
interface card (NIC). How many bits are used for the above physical
address.
2R dRdide gd &1 U Hdl g ol Hedd seihy dls U 3ifdhd 6.
Suad Ud & e o= faey &1 IuahT faan s 8.

[Question ID = 146][Question Description = Q36_ASTE_PA_NAIR25FEB]
" 32-bit
[Option ID = 581]
2 B4-bit
[Option ID = 582]
3 48-bit
[Option ID = 583]
4 128-bit

[Option ID = 584]

Correct Answer :-
* 48-bit

[Option ID = 583]



37) A virtual local area network (VLAN) in a Switch is configured by
changing which of the following

fafafad 7 9 {63 dadd gu us Rad § U adard died g
e (@UAE) FT HIHTR &1 ST &,

[Question ID = 147][Question Description = Q37_ASTE_PA_NAIR25FEB]
" Software / HIFCdaR

[Option ID = 585]
2. Physical wiring / dRkifde daiaT

[Option ID = 586]

3. Hardware / Eﬂé?ﬂﬂ

[Option ID = 587]

, Al options given are required to be changed/ f&U 7T T3t fdsedi
DI gaa HHad §

[Option ID = 588]

Correct Answer :-

* Software / QIFedUR

[Option ID = 585]

IPv6 Address has how many bits length
IPv6 Td # farcH die &1 e gidl .

[Question ID = 148][Question Description = Q38_ASTE_PA_NAIR25FEB]
1. 32-bits / dic

[Option ID = 589]

2. 48- bits / ®IC

[Option ID = 590]

3 B4-bits / dic

[Option ID = 591]

4. 128-bits / dic
[Option ID = 592]

Correct Answer :-
* 128-bits / dlc

[Option ID = 592]

39) Which of the following is a client-server program that provides an IP
address, subnet mask, |P address of a router, and |IP address of a
name server to a computer.

fUfeiRdd § 9§ P9 U1 U deilge-gd UH g ol R Sl 3figul Tgd,
eI Heh, AFCX D] HMgUl Tl IR 48 YR Bl AUl ToH HaT
o

[Question ID = 149][Question Description = Q39_ASTE_PA_NAIR25FEB]




. NAT/ QFIQ_C“
[Option ID = 593]

2. DHCP / Siu=did

[Option ID = 594]
CIDR / T353R

[Option ID = 595]

4 ISP / 33Uyl

[Option ID = 596]

w

Correct Answer :-

* DHCP / Siu=didi

[Option ID = 594]

The process of where a private address is converted into public
address and vice-versa is

UIgde UgH &l Ufstich USH H 3R 39 fquid g &l ufebar.......... &

[Question ID = 150][Question Description = Q40_ASTE_PA_NAIR25FEB]
- NAT / GUel

[Option ID = 597]
2 \VLAN / diqequ

[Option ID = 598]

3. OSP / 3oyl

[Option ID = 599]

4. None of the options is correct / &I 1 i f[deh ey Hﬁ TE:")[%

[Option ID = 600]

Correct Answer :-

* NAT/TUd

[Option ID = 597]

“1 Traditional simple LAN Switch operate at which layer
foh g TR U YRR HIYRU TAUEH (e i )l 6.

[Question ID = 151][Question Description = Q41_ASTE_PA_NAIR25FEB]
" Layer 1

[Option ID = 601]
2. Layer 2

[Option ID = 602]
3 Layer 3
[Option ID = 603]

Layer 4

4.

[Option ID = 604]



Correct Answer :-
* Layer 2

[Option ID = 602]

42) The network architecture for the Unified Ticketing System is

JAPIES EhicT Rived &1 Jead fifdhcdar ... ¢
[Question ID = 152][Question Description = Q42_ASTE_PA_NAIR25FEB]
1. 2-Tier

[Option ID = 605]
2 3-Tier

[Option ID = 606]
3 4-Tier

[Option ID = 607]
4 O-Tier

[Option ID = 608]
Correct Answer :-
* 4-Tier

[Option ID = 607]

43)  In the Unified Ticketing System , the number of locations per OSPF
area shall not exceed

gfmeTgs feapfdn Rien § ufd efivgdivs &7 J ke ol der ... 3
3ffe® el g,
[Question ID = 153][Question Description = Q43_ASTE_PA_NAIR25FEB]
1. 50
[Option ID = 609]
2. 60

[Option ID = 610]
.70

[Option ID = 611]
4. 80

[Option ID = 612]
Correct Answer :-

* 70

[Option ID = 611]

44)  If OFC and 6 quad underground cables are to be laid in the same
trench, at what depth they should be laid ?

gfe Usb gl ¢d d iumdl 3R 6 @18 YHTd ded [d@H 8l dl 3-8 fha-l
eI R f9ar =@reu.



[Question ID = 154][Question Description = Q44_ASTE_PA_NAIR25FEB]
. 100cm & 80cm

[Option ID = 613]

Z100cm & 100cm
[Option ID = 614]

3 120cm & 100cm
[Option ID = 615]

4 120cm &120cm
[Option ID = 616]

Correct Answer :-

* 120cm & 100cm

[Option ID = 615]

The standard drum length of 6 quad cable is metres.

6 1S Had & AFD oH B ddls ..... Al &.

[Question ID = 155][Question Description = Q45_ASTE_PA_NAIR25FEB]
500
[Option ID = 617]
21000
[Option ID = 618]
31500
[Option ID = 619]

4 2000

[Option ID = 620]

Correct Answer :-

* 1000

[Option ID = 618]

As per RDSO specification IRS: S 88/2004 Version 1.0 for Low Maintenance
Lead Acid secondary cells used for S&T installations, the battery shall be of low
maintenance design such that it requires very less topping up of distilled water in
the actual service. As per specification, frequency of topping up shall be not
earlier than —-----—-

HRSITyS! A3 315 3RTY: T 88/2004 TIHIVT 1.0 & IR TH Ug I
SXCTeE & [elU IUYGHT fohU Sf gl B WG did dolie URS Hrafds 9 &
feru, dedl o1 wEvEid f$ug 9t gl o fa ardfde dar & g3 9gd o4 elfti ol
Al gidl ¢ | fAFEw & oFuR elft &1 smafy 389 ugd el arft

[Question ID = 156][Question Description = Q46_ASTE_PA_NAIR25FEB]
' One month / % Hlg

[Option ID = 621]




2. Two months / &l HalH
[Option ID = 622]

> Three months / 919 Hel
[Option ID = 623]

4 Six months / B8 Hel-
[Option ID = 624]

Correct Answer :-

* Six months / 8 HolH

[Option ID = 624]

47)  As per RDSO specification IRS:S 93/96, VRLA batteries / cells shall
be charged at a constant voltage of

SRS AP 313 3RUH: TH93/96 & HR, dIARUAT dedisl/ded
DI FRAY ——- dlees IR 919 (bl SIdl 6.
[Question ID = 157][Question Description = Q47_ASTE_PA_NAIR25FEB]
200V
[Option ID = 625]
2 215V

[Option ID = 626]

. 220V

[Option ID = 627]
4 2.25V

[Option ID = 628]

Correct Answer :-

¢ 226V

[Option ID = 628]

For 6 Quad cable jointing, which type of joint requires the use of
‘Branch-off Clip’ ?
6 IS Dhad SlsicT & U o 9-3AP [dad & UGN (8 UHR & Silsc
& [T 31Ty G
[Question ID = 158][Question Description = Q48_ASTE_PA_NAIR25FEB]
" Normal joint / ARH Slsc
[Option ID = 629]
2. Condenser joint / HadR Glgc
[Option ID = 630]
3. Derivation joint / SRA%A Slgc

[Option ID = 631]

_ Itis required for all types of joints / i UhR & GIT?}E_I & feu
ALY D B.

4



[Option ID = 632]
Correct Answer :-
* Derivation joint / SRAZA Silgc

[Option ID = 631]

9 The impedance ratio of the transformer used for EC socket in an
unloaded quad cable system in Ohms while terminating on insulated
VF quad is
3Ycics dIUth H18 W GHIW gl IR Hdles $Is had [HeH & gl
Hidpe @ [T SN o ST aTel SIwBHR 1 SUiey Yt
Y B
[Question ID = 159][Question Description = Q49_ASTE_PA_NAIR25FEB]
" 1120:1120
[Option ID = 633]
2. 470:470
[Option ID = 634]
3 470:310
[Option ID = 635]
4 470:1120

[Option ID = 636]

Correct Answer :-

* 470:1120

[Option ID = 636]

50) }As per the concept of Lightning protection zones for lightning
protection, LPZ 0A means |

AT T YR&T P [o18 AT YR& Sl & JhedH & AHIUR
TAUISIS0A P 3 B.
[Question ID = 160][Question Description = Q50_ASTE_PA_NAIR25FEB]

. Internal having possibility of indirect strike / Sodd 1 SSRNae
ISP Bl FHIGAT

[Option ID = 637]

~ External having a possibility of Direct strike / URfe-d ¥ SNd
TIRPH DI GHIGAT
[Option ID = 638]

3. Both external & internal / TaIed 3R Se-1d alHl

[Option ID = 639]

“ None of these / 398 U &5 gl

[Option ID = 640]

2



Correct Answer :-

. External having a possibility of Direct strike / Qq‘%ld-%"ﬂ T SR
KIIP DI GHIGAT

[Option ID = 638]

The basic A to D converter used in a digital voltmeter is

Sluiied dieeHiex d ygdd Hifdd U Sl d-dcx @,

[Question ID = 161][Question Description = Q51_ASTE_PA_NAIR25FEB]

" Phase converter / 19 @-dct

[Option ID = 641]
2. Current converter / ¢ HAdC
[Option ID = 642]

3. yoltage to time converter / dlecd § clgH Hdcy

[Option ID = 643]
4 Frequency converter / iyl ddcY
[Option ID = 644]

Correct Answer :-

* voltage to time converter / dlecl § clgH HIdcy

[Option ID = 643]

°2) The RDSO Specification of 48VDC power plant based on High
Frequency Switch Mode Techniques for the use by Indian Railways
for Telecom Equipments like ofc equipments is

UG IUHRUNT S GIEAR IUBRUN & [l HRAY Ydd gRI 39T &
feTT BT5 hied! wdid AIS debriich o YR UR 48d1S I UlaR Wi &t
RETTal faf ©.

[Question ID = 162][Question Description = Q52_ASTE_PA_NAIR25FEB]
) IRS. TC.72/97

[Option ID = 645]

2.1 IRS.TC.86/2000

[Option ID = 646]
3-11RS.5.86/2000
[Option ID = 647]
* RDSO/SPN/TL/23/99
[Option ID = 648]

Correct Answer :-

* RDSO/SPN/TL/23/99

[Option ID = 648]



> The target time for starting an Accident Relief Train during daylight

hours (from 6 to 20 hours) as provided in accident manuals Railways
is normally

ed H gHe Agar 7 AU 1T 3R &7 & WHa (6 | 20 9 d)
G IEd S| Y e o (o0 diehd I G ©.

[Question ID = 163][Question Description = Q53_ASTE_PA_NAIR25FEB]

1. 15 minutes / A«

[Option ID = 649]

2. 25 Minutes /| @<e

[Option ID = 650]

3. 30 minutes / R«

[Option ID = 651]

4. 45 minutes / AeE
[Option ID = 652]

Correct Answer :-

* 30 minutes / f&=e

[Option ID = 651]

IEEE standard for WiFi having both 2.4GHz 5 GHz bands is

2.4GHz 5 GHz 48 aFl dls Pl & [T A3 S3g AFP 6.

[Question ID = 164][Question Description = Q54_ASTE_PA_NAIR25FEB]
1. 802.11a

[Option ID = 653]
2. 802.11b
[Option ID = 654]

3. 802.11g
[Option ID = 655]

4 802.11n
[Option ID = 656]

Correct Answer :-

* 802.11n

[Option ID = 656]

>} Communication systems using optical fibre cable works on which of the following
principles

3PP BIZaR head BT IULNT S drell T=r yonferal Ruffad 7 3 g Rigia
QR DI Bl g7

[Question ID = 165][Question Description = Q55_ASTE_PA_NAIR25FEB]



. Scattering of Light / Ity 3t elsc
[Option ID = 657]
) Total internal absorption / Eﬂﬁﬁ%ﬁﬁa
RICSINE
[Option ID = 658]
Total internal reflection / €ldd s-d
RENERE

[Option ID = 659]

. Optical rotation / 3@ d Ada

[Option ID = 660]

w

N

Correct Answer :-

. Total internal reflection / €ldd 5%4{?1
OISR
[Option ID = 659]

>6)  DC power supply to be provided at LC Gate using Electronic LC gate
Telephone system is ;

gAde-i TRl e Tl e d & Iuai gl Tl e iR

ST ylar 9wils & oaw 6.
[Question ID = 166][Question Description = Q56_ASTE_PA_NAIR25FEB]
. 3V
[Option ID = 661]
2. 12V
[Option ID = 662]
3. 24V

[Option ID = 663]

. No supply is required to be provided / ot H'Fﬂg CARICEUETI
Tol .
[Option ID = 664]

Correct Answer :-

. No supply is required to be provided / faodl ltﬂfﬂg CARC I GRUET|
ol &.

[Option ID = 664]



) As per Para 7.8.9 of IRSEM, Mobile Train radio communication
(MTRC) or LTE or any other Technology is necessarily required for
speeds in excess of

TS HRTHSTH & UR17.8.9 & AR Y offtres @t 71fa & e
HiaTga oA sl drgfee (wadlsmrdl) ar wadls an fad o
cqHTAn B A AT 6.

[Question ID = 167][Question Description = Q57_ASTE_PA_NAIR25FEB]

1. 110 Kmph

[Option ID = 665]

2. 140 kmph

[Option ID = 666]

3. 160 kmph

[Option ID = 667]

4. None of the options is true / S o1 i fadhed el ?I'E,p[%k

[Option ID = 668]

Correct Answer :-

* 140 kmph

[Option ID = 666]

) As per Para 7.8.9 of IRSEM, ATP (ETCS/TCAS/TPWS) with Cab
Signalling for SPAD mitigation is necessarily required for speeds in
excess of

HISHRUHSUH & U 7.8.9 & IR T 3 Bl 1fa & fore e
%I HH B & [o1¢ hd [GEfeT Gled Tt
(ecIiTa/ERiugy/didissaguy) &t 3idd g g.

[Question ID = 168][Question Description = Q58_ASTE_PA_NAIR25FEB]
1. 110 Kmph

[Option ID = 669]

2. 140 kmph
[Option ID = 670]

3160 kmph
[Option ID = 671]

4 None of the options is true / S a1 Hi fdwey FIE‘T?IE‘T?-‘
[Option ID = 672]

Correct Answer :-

* 140 kmph

[Option ID = 670]



7 What type of protection is provided to protect Block Section, if the
gradient is steeper than 1 in 100 falling towards the Block Section

sl YaR Dl Y&l & [T [y YR B G&m uar &l §iidl g, afd
il a9 &I 3R [TRA arelt ere 100 9 9 19 ¥ did &

[Question ID = 169][Question Description = Q59_ASTE_PA_NAIR25FEB]

- Slip siding / f&Id TI3fET
[Option ID = 673]

2. Catch siding / &4 GI3f&T

[Option ID = 674]
3. Trap siding / ¢4 AI3(&7]

[Option ID = 675]

4. Overshoot line / ahfﬂvg@ NIEE

[Option ID = 676]

Correct Answer :-

* Slip siding / f&aq AgfEm

[Option ID = 673]

As per IR SOD-2004, minimum clearance of check rail at a level

crossing is

ISR UH3I81-2004 & SR YHURT U deb ¥ o] YrAdH formadd
g

[Question ID = 170][Question Description = Q60_ASTE_PA_NAIR25FEB]

L 51mm

[Option ID = 677]
Z 53mm

[Option ID = 678]
3. 56mm

[Option ID = 679]
4 57mm

[Option ID = 680]
Correct Answer :-
¢ 51mm

[Option ID = 677]



1) As per the latest IR Schedule of Dimensions revised-2022, Maximum

(Steepest) gradient recommended in station yards for new works
unless special safety devices are adopted and/or special rules
enforced to prevent accidents in accordance with approved special
instructions is

AdIdH 3R YSgd 1 SIZHYA G 2022 & VR, SHgHIfed
fa=Iy el @ SFERul H g i UbhUr o feiu STadd a2y SRem
JUHRUN BT UATY ST+ HIR/AT fa=1Y a8 @r] 78] gid daad ¢ 1l &
fore g arsf # sffiehdw (FI0%) So S SRl B il 3.

[Question ID = 171][Question Description = Q61_ASTE_PA_NAIR25FEB]
' 1in 260
[Option ID = 681]
2 11in 400
[Option ID = 682]
> 1in 1000

[Option ID = 683]

4 11in 1200

[Option ID = 684]
Correct Answer :-

* 1in 1200

[Option ID = 684]

For the purpose of Maximum gradient permitted in station yards as per
SOD ,on single line, a station yard will be taken to extend to a
distance of beyond outermost points at either end of the
station.

UHEl AR TR, THATS & SFUR ©IF AT6! § fdad e SHfd &
YA & feg ®H & gl 3R & d1glad digel | 2l &I gl b
WA ATS B Ml i S,

[Question ID = 172][Question Description = Q62_ASTE_PA_NAIR25FEB]
30 m

[Option ID = 685]

2 40m

[Option ID = 686]

3. 80m

[Option ID = 687]
4 100m

[Option ID = 688]



Correct Answer :-

* 50m

[Option ID = 687]

As per ACTM manual, if for any reasons the protective metallic screen
is not provided and portions of the signal or its fittings are falling
within 2m of 25 kV live OHE, what is required to be done for working
on the signal

gty fFaarad & SER af fedt SRuGy Rerds ferfis i
%] AGRT A 5l 3R REHE! & YT a1 I (I Sl 254! & 2ud
3d efivds & iR 2d & df Rvel W il A & fag & e
H1fgU.
[Question ID = 173][Question Description = Q63_ASTE_PA_NAIR25FEB]
By switching off the Power to the 25 KV live OHE / UldR &l 25

" 3t rea aNeaS R 3 Hea gy
[Option ID = 689]

, By obtaining the “permit to work™ / I BRI B Hﬂﬂﬁi" HItd
P U
[Option ID = 690]

, Either switching off or by obtaining “permit to work™ /4T GIRGaLE
DY DI FART UTed R gY a1 Gt 3 $Hrd §¢
[Option ID = 691]

Both switching off the power to the 25 kV and obtaining the
4 “permit to work” / 25 d! GlaR 3 Hd §Y AR BRI D Pl

AT W R gL Al

[Option ID = 692]

Correct Answer :-

Both switching off the power to the 25 kV and obtaining the
* “permit to work” / 25@d! iR 31T HXd §U 3R “HIY B+ Dl

AT W R gL Al

[Option ID = 692]

What does the ACTM manual stipulate before cutting the armour or
the sheath of a cable or the wires in the cable in electrified sections ?

fdgygdiod QaHl @ SR 41 had & Y a1 dad & dial] & e &
Uge GHICITH H=y3fel H @1 Sgl T 6.

[Question ID = 174][Question Description = Q64_ASTE_PA_NAIR25FEB]



Establish an electrical connection of low ohmic resistance
between the two parts of the armour or the sheathing that are to

' be separated by cutting. / R & o YR & §id ®H AT

IR & fdeygd Ha% DI WU B gU g1 Hict gR1 <l &l
31l fobar SIg

[Option ID = 693]

. Switch off the Power to the 25 KV live OHE / 25 &d! digd iu=s
& UTaX o X 3 B3
[Option ID = 694]

3. Obtain the “permit to work” / “®Td &= &1 A" U B
[Option ID = 695]

4. All the options are required / T [d%ed TS ¢

[Option ID = 696]

Correct Answer :-

Establish an electrical connection of low ohmic resistance
between the two parts of the armour or the sheathing that are to

° be separated by cutting. / PR & &l Y & oid HH D
IR & fdegd BH-1a=1 DI WU B §U AT Hict gRT WYl &
3T T ST

[Option ID = 693]

Which of the following statements regarding points and crossings is
not true as per Pway Manual

gy FomEd! & UR lgel AR IR & gay 4 fHafafad § 9
DI 91 91 Hel -Tgl ©.
[Question ID = 175][Question Description = Q65_ASTE_PA_NAIR25FEB]
There should be no junction fishplates at stock rail joints or at the heel
. of crossings. / ¥1d ¥d Slige! 41 IR & gid UL g Sav [he Ted
el g =g
[Option ID = 697]

, Points and crossings should be laid without the 1 in 20 cant / 20 H 1

e & faaruigel SR STl o faamr 9igy

[Option ID = 698]

At least one rail on either side of the Points and Crossings should have
, the same section as the Points and Crossings assembly rail section /

| TS 3R I & ST 3R BH W 1 TP I ST Yo & SFHR gl
a1 oI foh uTgel iR IR & Yd el Yo Se # gidr ¢

[Option ID = 699]



It is compulsory to weld stock and lead joints on the Points and
4 Crossings assembly/ Uigc] 3R SIRAT UR des Widh AR oS Sigcy
sfard g

[Option ID = 700]

Correct Answer :-

It is compulsory to weld stock and lead joints on the Points and
* Crossings assembly/ Uigcl 3R IR UR des Wid 3R ols Sigcy
sfard g

[Option ID = 700]

Minimum horizontal distance from Centreline of track to the nearest
part of a signal post for new works is

U H & o8 YUY & HeH A1z I REd @Y & GHYdd Wit &t

[Question ID = 176][Question Description = Q66_ASTE_PA_NAIR25FEB]
. 2135mm

[Option ID = 701]
2. 2360mm
[Option ID = 702]
3 2575mm

[Option ID = 703]

4. 2725mm

[Option ID = 704]
Correct Answer :-
¢ 2360mm

[Option ID = 702]

Work study is concerned with

B 3y faay Heled e,

[Question ID = 177][Question Description = Q67_ASTE_PA_NAIR25FEB]
~ improving present method and finding standard time / CREIERE ]
A YYR 3R A FHY qg Bl
[Option ID = 705]
2. motivation of workers / SHHATAS &I U HA1
[Option ID = 706]
3+ improving production capability / Sdla- &HdI ff?jﬁﬂ?
[Option ID = 707]
, improving production planning and control IRRICERIREIECIN
o A guRr




[Option ID = 708]

Correct Answer :- Deleted

%8)  Program Evaluation Review Technique (PERT), a project management
planning tool is a
HTIshH Yedich-1 AHET ddriid (Hg3RET) U YRTISHT Yae= dioi
JUH ©.

[Question ID = 178][Question Description = Q68_ASTE_PA_NAIR25FEB]

1. Time oriented technique / 9HY 3-HYd dh-ilh

[Option ID = 709]

2. Event oriented technique / ¥c-l J3-+HY SERIET

[Option ID = 710]

3. Activity oriented technique / Tfafafe JHY db AP

[Option ID = 711]
4. None of the options is correct / I i f[d®ed Ul 76l o
[Option ID = 712]

Correct Answer :-

¢ Time oriented technique / JHY 3-HY ddeiich

[Option ID = 709]

9 The critical path method (CPM) , a project management technique for
process planning is a

fopfeha Ty Aus (@idivm) uichar aie1 & Tt tsh aiRars = ugy=
RERICa

[Question ID = 179][Question Description = Q69_ASTE_PA_NAIR25FEB]
- Time oriented technique / JHY 3-HY AP

[Option ID = 713]

2= Event oriented technique / ¥+l G‘W?IEI'FﬂEE
[Option ID = 714]

3. Activity oriented technique / HIGIGIES JHY dd 12

[Option ID = 715]

4 Target oriented technique / d&d 344 RE&IED

[Option ID = 716]

Correct Answer :-

* Activity oriented technique / QA I+ dh-id

[Option ID = 715]

79" Which among the following is not a type of Non-destructive testing?

FrafeRed o 9 oF a1 Am-Sxfdcd SRen o1 uaR 71el ©.



[Question ID = 180][Question Description = Q70_ASTE_PA_NAIR25FEB]

. compression test / U ¢

[Option ID = 717]

2. visual testing / fdgarel R

[Option ID = 718]

3. ultrasonic testing / eI ¢RETT

[Option ID = 719]

“ eddy current testing / Tg1 ¥c CRET
[Option ID = 720]

Correct Answer :-

* compression test / DU ¢

[Option ID = 717]

Mention the name of the award to be given for writing original Hindi
books on technical subjects by Railway Board.

fordft Tepiient famd WR foRd STiarel Jd fedl Jde o g ¥ad 91S gRI
S YRBR 1 A fRau,

[Question ID = 181][Question Description = Q71_ASTE_PA_NAIR25FEB]

. Premchand Award / BH=¢ QPR
[Option ID = 721]

2. Maithili Sharan Gupta Award / Hidcl IRU I JREHR

Option ID = 722

g [raahatma] Gandhi Award / HETHT T7el PR
[Option ID = 723]

“ Lal Bahadur Shastri Award / TTel g5 e TWRBR
[Option ID = 724]

Correct Answer :-

* Lal Bahadur Shastri Award / TTel §g1G< %] JREBR

[Option ID = 724]

When is "Hindi Day" celebrated every year?
B e [gdl foay &e a=r Sirdl & 2

[Question ID = 182][Question Description = Q72_ASTE_PA_NAIR25FEB]
1. January 26 / SR 26

[Option ID = 725]
2 June 5/915

[Option ID = 726]

3. September 14 / f¥dsx 14

[Option ID = 727]



4 March 8 /94 8

[Option ID = 728]

Correct Answer :-

* September 14 / ¥deax 14

[Option ID = 727]

According to Official Language Rules, under which region Andaman &
Nicobar Islands come ?

ST 1T & SFER, SSHM AR PR g9 9ig 63 & 1 oid §

[Question ID = 183][Question Description = Q73_ASTE_PA_NAIR25FEB]
- Region'A'/ &’ &4

[Option ID = 729]
2 Region 'B'/ ' &H

[Option ID = 730]
3 Region 'C'/ T &4

[Option ID = 731]
. None of the options given is correct / fau e ﬁao—cq*fff@raﬂ% i

el Tel &

[Option ID = 732]
Correct Answer :-
* Region'A'/ &’ &

[Option ID = 729]

Mention the name of the Award to be given for writing story/novel
writing in Hindi by Railway Board.
Tedl PerISUUrY T UR Yad 816 gRI 1T Si-did GIEhR Pl A1
fefag
[Question ID = 184][Question Description = Q74_ASTE_PA_NAIR25FEB]
' Premchand Award / UHEG PR

[Option ID = 733]

~ Maithili Sharan Gupta Award / Hf2Iet SR I

[Option ID = 734]
3. Mahatma Gandhi Award !ﬂ@fﬂTTﬁﬁﬂW

[Option ID = 735]

. Lal Bahadur Shastri Award / ¢flc] sglgX IPS

[Option ID = 736]

2

Correct Answer :-



* Premchand Award / UH¢ JREPR

[Option ID = 733]

75 As per the Constitution, who is translating the statutory rules,
regulations and orders?

U™ & SR Hifdide g, fafal SR srewi &1 srare &I
A8 ?
[Question ID = 185][Question Description = Q75_ASTE_PA_NAIR25FEB]
" Railway Ministry / ¥ HATeY
[Option ID = 737]
2 Finance Ministry / Ta< ¥aTeid
[Option ID = 738] a
* Home Ministry / TJg HATTT
[Option ID = 739] _
4 Law Ministry / Tafe] Ti=mea
[Option ID = 740]
Correct Answer :- _
* Law Ministry / faf€ #izmeg

[Option ID = 740]

Which Sub-Committee of the Parliamentary Committee on Official
Language inspects Railway Ministry?

I HATEY &1 e, dadh aoym 9Efa @ s1a-d 3g afafa sl g2

[Question ID = 186][Question Description = Q76_ASTE_PA_NAIR25FEB]
. First Sub-Committee / Ugdil 39 IiH[d

[Option ID = 741]

2. Second Sub-Committee / U1 3T FiHA
[Option ID = 742]

* Third Sub-Committee / TIERI 39 G
[Option ID = 743]

4 Fourth Sub-Committee / A2t 39 9
[Option ID = 744]

Correct Answer :-

* Second Sub-Committee / G831 3T FiATd

[Option ID = 742]

Which elementary Hindi course is prescribed for Central Govt.
employees?

&g WEHR & HAIG] & fore RuiRd uRiYe ureasy s g 2



[Question ID = 187][Question Description = Q77_ASTE_PA_NAIR25FEB]
" Prabodh / Ual¢

[Option ID = 745]
2. Praveen / UdI0[

[Option ID = 746]
3 Pragya / I3l

[Option ID = 747]

4 Prarambh / UR™
[Option ID = 748]
Correct Answer :-

* Prabodh / U&l%

[Option ID = 745]

8 What is the periodicity of the meetings of Divisional Official Language
Implementation commitiee?

Had JoTHNT HIT-aT- TiHfd B da@H1 DI SafedHdl T g ?

[Question ID = 188][Question Description = Q78_ASTE_PA_NAIR25FEB]
' Once in 02 Months / 02 Hel- & Udh dR
[Option ID = 749]

2. Once in 03 Months / 03 Hel- & U dR

[Option ID = 750]
3 Once in 04 Months / 04 HeH H UH dR

[Option ID = 751]

4. Once in 06 Months / 06 Hagl- H Ut g
[Option ID = 752]

Correct Answer :-
* Once in 03 Months / 03 TglH 8 T aR

[Option ID = 750]

79 \Which is the nodal ministry for implementation of Hindi in Central
Government offices ?
[Question ID = 189][Question Description = Q79_ASTE_PA_NAIR25FEB]
" Railway Ministry / ¥¢l GAT0d
[Option ID = 753]
2. Finance Ministry / fa< #a1ed
[Option ID = 754]
* Home Ministry / g HATaT
[Option ID = 755]

4. Law Ministry / Tafe Tizmeyg

[Option ID = 756]



Correct Answer :- Deleted

Who is the Chairman of the Divisional Official Language
Implementation Committee?

THed PR DI AU S G & eref diF g ?
[Question ID = 190][Question Description = Q80_ASTE_PA_NAIR25FEB]
. Divisional Rajbhasha Adhikari / Figd JSTHN HiHR]
[Option ID = 757]
2. Additional Divisional Railway Manager / 3{UR HSd ¥d Wt
[Option ID = 758]
3 Divisional Railway Manager / Had ¥d Heed
[Option ID = 759]
4 Sr.Divisional Personnel Officer / GRE Had HIHD HYHRI]
[Option ID = 760]
Correct Answer :-
* Divisional Railway Manager / Had Id Ueed

[Option ID = 759]

Topic:- ASTE_PB_NAIR25FEB

Y How many days of LHAP can be accumulated to an employee during
his entire service?

feret ee=rdl g1 Sro-l gt Gat & SR fbae fal @1 LHAP STAT &1 Sl
Tl 6.

[Question ID = 193][Question Description = Q01_ASTE_PB_NAIR25FEB]

- 300 days/ fa

[Option ID = 769]
2. 315 days / &
[Option ID = 770]
% 450 days / fad
[Option ID = 771]
4 No limit / @15 SIHT ol
[Option ID = 772]

Correct Answer :-

* No limit / @13 AT Tgl

[Option ID = 772]

2) How many sets of School Pass are issued to a Railway employee per
child ?
forfl Yefd AR Ui S=1 ! fohd! Thd Urg SR} fhU ird ©.



[Question ID = 194][Question Description = Q02_ASTE_PB_NAIR25FEB]
' 2 sets per year /2 @Eﬂuﬁiaﬁf
[Option ID = 773]
2. 3 sets per year/ 3 @E}[Eﬂ?ﬁﬂf
[Option ID = 774]
3 4 sets per year / 4 @!E}[Elﬁlfﬂf
[Option ID = 775]
4 6 sets per year / 6 Jcq Ufd ay
[Option ID = 776]
Correct Answer :-

* 3 sets per year / 3 §c ¥ Uld ay

[Option ID = 774]

3 What is the time limit for replying to the request for information if the
request has been made to the PIO under Right to Information Act

YT @1 DR HAHTH & sfaid dangsi &I fu T rRiY & fag ga
Ul &3 gd SHidad o1 yHy A g
[Question ID = 195][Question Description = Q03_ASTE_PB_NAIR25FEB]
" 15 days / f&
[Option ID = 777]
2 30 days / fa
[Option ID = 778]
3 45 days / fa
[Option ID = 779]
“ 60 days / fad
[Option ID = 780]
Correct Answer :-
* 30days / fe

[Option ID = 778]

What is the revised benchmark of APAR for grant of MACP
U @1 HoR! & forg THiusR &1 SR o= e 31 &,

[Question ID = 196][Question Description = Q04_ASTE_PB_NAIR25FEB]
- Good / H=3T

[Option ID = 781]
2 Very Good / dgd 3]

[Option ID = 782]

3 Outstanding / 3«h¥

[Option ID = 783]

4. No bench mark / ﬁﬁanﬁﬁaﬁ’r



[Option ID = 784]
Correct Answer :-
* Very Good / dgd 3{=d]

[Option ID = 782]

%) Currently what is the initial Grade Pay of ASTE/ADSTE Group B ?
qoH 5 ASTE/ADSTE 44 §f &1 URfHe U U 11 8.

[Question ID = 197][Question Description = Q05_ASTE_PB_NAIR25FEB]
" Level 7 /WA 7
[Option ID = 785]

2. Level 8 /dd 8

[Option ID = 786]

. Level 9 /ddd 9
[Option ID = 787]

4 Level 10 / @dd 10
[Option ID = 788]

Correct Answer :-
* Level 8 /dd 8

[Option ID = 786]

) How much fees is to be paid for making application before Central
Administrative Tribunal?

ST UTEfTD DRI D FHE ST S & T fha- Yo BT YA
GGG

[Question ID = 198][Question Description = Q06_ASTE_PB_NAIR25FEB]

" Rs. 50
[Option ID = 789]
2 Rs. 100
[Option ID = 790]
3 Rs. 500
[Option ID = 791]
4 Rs. 1000

[Option ID = 792]

Correct Answer :-

* Rs.50

[Option ID = 789]



7 Whatis normally the time limit for all appointments on compassionate
grounds from the date of occurrence of the event entitling the eligible
person to be appointed on this ground ?

el g D aRiE I JHrd: fd- a9 HiH § e ar I Seid a4
Fgfmai &t ol =fge fSrad ur cfdd & 38 SyR UR Ry fdar o 3.

[Question ID = 199][Question Description = Q07_ASTE_PB_NAIR25FEB]
- 2 years/ ay
[Option ID = 793]
2. 3 years/ ay
[Option ID = 794]
3- 5 years/ ay
[Option ID = 795]
4 T years/ ay
[Option ID = 796]
Correct Answer :-

¢ Syears/ ay

[Option ID = 795]

8 How much employee contribution goes to NPS?

T4y & [old SHAR] P 3RS [T g
[Question ID = 200][Question Description = Q08_ASTE_PB_NAIR25FEB]
. 8 % of Basic Pay + DA

[Option ID = 797]

2. 10 % of Basic Pay + DA

[Option ID = 798]

3 12% of Basic Pay + DA

[Option ID = 799]

4 14 % of Basic Pay + DA
[Option ID = 800]
Correct Answer :-

* 10 % of Basic Pay + DA

[Option ID = 798]

) What is the formula for maximum Commutation of pension?
YR & HIYHTH SR D] Bl T g2
[Question ID = 201][Question Description = Q09_ASTE_PB_NAIR25FEB]
Formula for Commutation: 30 % of Pension x12 x Relevant Age factor /

1' SR b ol BIHT: G BT 30% x12 x R 3(1g PR

[Option ID = 801]



, Formula for Commutation: 40 % of Pension x12 x Relevant Age factor /

HHEICI & 1T BIHET U BT 40% x12 x WS 3G PRD

[Option ID = 802]
Formula for Commutation: 45 % of Pension x12 X Relevant Age factor /

Wﬂﬁﬁﬁmtﬂiﬁn U BT 45% x12 x WD g RS

[Option ID = 803]
Formula for Commutation: 40 % of Pension x6 x Relevant Age factor /

" SRR % orT BT U= BT 40% x6 x URIE 3T HRE

[Option ID = 804]
Correct Answer :-
Formula for Commutation: 40 % of Pension x12 x Relevant Age factor /
HRICYA D eI BIHaT: T BT 40% x12 x URIS 3G SR

[Option ID = 802]

0 What is the maximum amount of DCRG paid to a Railway employee at
the time of Superannuation?

AR & Yoy Yed HHART Bl YT Bl S dlell SRl $f
SHfeaH AR 1 52

[Question ID = 202][Question Description = Q10_ASTE_PB_NAIR25FEB]

- 10 Lakhs / 10 @@
[Option D = 805]

2 156 Lakhs / 15 ¢l9
[Option ID = 806]

3- 20 Lakhs / 20 o9

[Option ID = 807]

4 30 Lakhs / 30 dlkd
[Option ID = 808]
Correct Answer :-

* 20 Lakhs / 20 oI

[Option ID = 807]

After how many years, the commuted portion of pension is restored?

o aul & e te &1 gRafdd YT Sg1d gl o 82

[Question ID = 203][Question Description = Q11_ASTE_PB_NAIR25FEB]
' 10 years /10 qy

[Option ID = 809]

2. 12 years / 12 @Y

[Option ID = 810]

3 15 years / 1594



[Option ID = 811]

4 20 years / 20 ay
[Option ID = 812]

Correct Answer :-

* 15 years/ 15ay

[Option ID = 811]

What is the standard form used for Suspension ?
[eie & fe1u Iugie fdgr i1+ drelt A BiH &1 g2
[Question ID = 204][Question Description = Q12_ASTE_PB_NAIR25FEB]
. SF-1 /T U -1
[Option ID = 813]
2 SF-3 /UqU%H -3
[Option ID = 814]
*SF-5 /UHUH-5
[Option ID = 815]
4 SF-11 /T UH -11
[Option ID = 816]
Correct Answer :-
* SF-1 /8 Uh -1

[Option ID = 813]

"> \What is the time limit for Appeal under DAR ?
SITAR & 3 U & 5y Hr &1 82

[Question ID = 205][Question Description = Q13_ASTE_PB_NAIR25FEB]
1. 30 days / f&-1
[Option ID = 817]
2. 45 days / fa
[Option ID = 818]
3- 60 days / e
[Option ID = 819]
“ 60 days / fed
[Option ID = 820]

Correct Answer :-

* 45 days /&

[Option ID = 818]

Chairman of SBF (Staff Benefit Fund) in Zonal Railway is
SIFe Xad H UHEIU (1% diHfthe B8) & 3ieg e



[Question ID = 206][Question Description = Q14_ASTE_PB_NAIR25FEB]

- Principal Chief Personnel Officer / W< TR St HIUHRY

[Option ID = 821]

2. DRM / SI3{RUH

[Option ID = 822]
3. SrDPO / Ui adiaf

[Option ID = 823]
4+ GM/ieA
[Option ID = 824]

Correct Answer :-

* Principal Chief Personnel Officer / We/T T Sitids BRI

[Option ID = 821]

What is the joining time normally eligible for transfer on administrative
ground when distance to the new place of posting is 1500 KM

S [T & T R @1 g3t 1500 fhadiex gl df Ui 3eR o
AR & oIt Id: BIAHR T80 HI- BT T a7 o2
[Question ID = 207][Question Description = Q15_ASTE_PB_NAIR25FEB]

. 8days/8faT

[Option ID = 825]

2. 10 days / 10 &=

[Option ID = 826]

3. 12 days / 12 T

[Option ID = 827]
4 15 days/ 15 e
[Option ID = 828]

Correct Answer :-

* 12 days / 12 T

[Option ID = 827]

S&T works are sanctioned under which plan-head in the ‘Pink book™ ?
Tt g o b9 Tio-3Y & Sfaid S&T S/l &I TRl dl St 62
[Question ID = 208][Question Description = Q16_ASTE_PB_NAIR25FEB]
1100

[Option ID = 829]
3100

[Option ID = 830]

3+ 3300

[Option ID = 831]



4,
6400
[Option ID = 832]

Correct Answer :-

* 3300

[Option ID = 831]

In a work tender, if an offer is received without EMD within stipulated
time period, how it should be dealt.

s oY Ffder 7, afe Feiia gag 3afy & oieR suas! & S @i
UITd U g1l &, 1 39 ¥ uerr 9T =1feT

[Question ID = 209][Question Description = Q17_ASTE_PB_NAIR25FEB]
EMD can be asked for submission at a later date ng'FIEPI CAC|

&1 ARG § o1 34 & [U Fgl 5 Thal g

1.

[Option ID = 833]

2. EMD can be deducted from the bills / STHS! fadl I HIeT S Thdl o

[Option ID = 834]

, Offer to be summarily rejected./ TG I TLERT AR U 3RATHR
o fegr ser|

[Option ID = 835]

, Tender committee can decide to accept or reject. / Ffder afafa
WHR T 3RABR DR & U of Gl g

[Option ID = 836]

Correct Answer :-

. Offer to be summarily rejected./ U¥Td &l TIRT R TR 3RAIHR
Y fear S|

[Option ID = 835]

'®) " sanction of works is processed through

[Question ID = 210][Question Description = Q18_ASTE_PB_NAIR25FEB]

" |PAS / efsUiuEy

[Option ID = 837]
2. NTES / TI¢I50d
[Option ID = 838]
. IRPSM / 33 3RUTTuy
[Option ID = 839]

4. |REPS / 313 3RsUiey

[Option ID = 840]




Correct Answer :-

* IRPSM / 35 RUTTEH

[Option ID = 839]

%) Sanction of excess over original sanctioned cost (abstract cost) due to
reasons other than price escalation can be done by zonal railways upto

T dleg & a3 HRUN Y Jel Widhd drTd (TaRede Hiw) 9 e
1 Hod! Sl Yad gR1 fda- Uia2rd de i ol Sebdl ©

[Question ID = 211][Question Description = Q19_ASTE_PB_NAIR25FEB]
" 10%
[Option ID = 841]

2. 20%

[Option ID = 842]

3. 50%
[Option ID = 843]
4 100%
[Option ID = 844]
Correct Answer :-
* 20%

[Option ID = 842]

20) Daily allowance admissible to a railway employee on official tour for
absence from Headquarters for 5 hours in a day is

HIRIBIRD Gk IR U {61 H GEIay U 5 6¢ &1 Sufedfa & fog Yed
HHAR] Dl ol e wierd g

[Question ID = 212][Question Description = Q20_ASTE_PB_NAIR25FEB]

1. 30% of one day allowance / U f&+ o Ul DT 30%

[Option ID = 845]

2. 50% of one day allowance / U &1 & Yl BT 50%

[Option ID = 846]

3. 70% of one day allowance / U& &= & 4l &1 70%

[Option ID = 847]

4. 100% of one day allowance / U & & Y &1 100%

[Option ID = 848]
Correct Answer :-

« 30% of one day allowance f@ﬁqai il &1 30%

[Option ID = 845]



2 What is NOT a source of funding for IR to finance its capital expenditure
projects?
3% 3R D1 YoitTd o GRS} bl BT - o oy did &1 =gl g2
[Question ID = 213][Question Description = Q21_ASTE_PB_NAIR25FEB]
- Extra budgetary resources / e soicta gareH

[Option ID = 849]

2. Gross budgetary support / Thd duic g gHYdq

[Option ID = 850]

3. Internal resources of IR / 3SR & NS T

[Option ID = 851]
Raising bonds and debentures from the stock

* market / IR IOIR Y @18 3R (=R e

[Option ID = 852]

Correct Answer :-

. Raising bonds and debentures from the stock
market / YR §9R 9 |l 3R [Sd= Sl

[Option ID = 852]

GeM is a platform for purchases by -

GeM fbdd gRI GdER] & iU us He g2

[Question ID = 214][Question Description = Q22_ASTE_PB_NAIR25FEB]
Only for all wings of Ministry of Railways and Railway

PSUs / dad ¥d HATGY 3R Ydd diedy & g4l fd & feg

[Option ID = 853]

2. All citizens of India / HRd & 4T AFTR®] & e

[Option ID = 854]

3. All the Govt. Departments / G+ TSR] fAdHIT & feiw

[Option ID = 855]

4 Only for Zonal Railways / &dd &1 ¥eld & faU

[Option ID = 856]

1.

Correct Answer :-

* Al the Govt. Departments / G4 TR R faHFT & feiw

[Option ID = 855]

23 |n GeM purchase: What is the full form of CRAC -?
GeM @ilg H: CRAC &1 quf &Y 11 § - 2

[Question ID = 215][Question Description = Q23_ASTE_PB_NAIR25FEB]



Combined Receipt and Acceptance Certificate / dalgs R U8
TPy Yidfthde
[Option ID = 857]

Closure report & acceptance certificate IWWQ?{@%
gidfpae
[Option ID = 858]

Consignee report & acceptance certificate / B3| RUIE U8
TPy gicfhde
[Option ID = 859]

Consignee Receipt and Acceptance Certificate. fﬂﬁ:ﬁ m%IEQTB'
" ud e

[Option ID = 860]

1.
2.

3.

Correct Answer :-

. Consignee Receipt and Acceptance Certificate. | Al Ride vs
TR giéihae

[Option ID = 860]

Force Majeure Clause provided in Stores and Works contracts, in certain
situations and circumstances beyond the control of both the parties,
described as ‘Acts of God’, allows parties to

il &l & (da0 8 R o Rufaal ok gkl 8, Wik 3k 9/ 31 |
U a1 a7 SR gel Ws, o9 “YiaH & SR & &9 | aftid fear
1 g, Iyl @l @1 A ST B

[Question ID = 216][Question Description = Q24_ASTE_PB_NAIR25FEB]
Defer performance of their contractual obligations | 3% ShITd

" it @1 e @i B

[Option ID = 861]
End the contract without financial repercussions on either side /

" e o vay o e e T R Y FHTT Y

[Option ID = 862]

3. Both the options given are correct / &€ 7T GIHl fd®ed Yol &
[Option ID = 863]

. Neither of the options given are correct / ﬁquf@[aﬂﬁ
Wt wel el ®

[Option ID = 864]

Correct Answer :-
* Both the options given are correct fﬁ“QTFE{ Sl fdbeq E‘Eﬂ %‘

[Option ID = 863]



) Two Packet Single Stage system of tendering shall be followed for

Works Tenders valuing above which value :-
e Hew 9 3if¥ep Hed & $rd Ffdersi & feu Afder @1 ¢ 9dbe R
o ReH &1 urer fhar |-

[Question ID = 217][Question Description = Q25_ASTE_PB_NAIR25FEB]
. Rs 1 Crore /& 1 &3S

[Option ID = 865]

2. Rs 5Crores /% 5P3a

[Option ID = 866]
3 Rs 10 Crores / ¥ 10 F8
[Option ID = 867]
“ Rs 25Crores /% 25 HRIg
[Option ID = 868]

Correct Answer :-

* Rs 10 Crores /% 10 B8

[Option ID = 867]

Tender committee and Accepting authority for single tenders

should be
Ushd fAfdereii o fog [Afder afafd ud wWiela ufteri gir aige

[Question ID = 218][Question Description = Q26_ASTE_PB_NAIR25FEB]
. Same level committee as for open tenders / E{cﬂ (Afdaraf & feru
YA TR B Ik

[Option ID = 869]

2 One step above normal tenders / ETE e g Udp Idd HU

[Option ID = 870]

Two steps above the normal tenders / dH [Ffdarei g a1 &R
HUR

[Option ID = 871]

4. Level to be decided by GM / SITH gRT W) o4 {4471 SITET

3.

[Option ID = 872]

Correct Answer :-

* One step above normal tenders / TTE e g Udh Idd HHR

[Option ID = 870]



2 Powers to dispense with tenders and accept quotation for works

valuing Rs. 10 lakhs rests with

10 TG ¥l & Jeg & H1d! o foig Ffdarsii 8 §e d- iR dlexH
WIHR TR @1 WAl & U E.

[Question ID = 219][Question Description = Q27_ASTE_PB_NAIR25FEB]

. GM/SIEH

[Option ID = 873]
2. PHOD / 4t Tg3ilal

[Option ID = 874]
> HOD / TF3{ie]

[Option ID = 875]
4 JAG / SIES|l

[Option ID = 876]

Correct Answer :- De|eted

As per GCC, in the case of a works contract, quantities operated more
that 125% but below 140% will be paid at the rate of

SR & SR, S b & HiHd H, 125% 9 (4P w1 140% I HH
BEIINCRIEIEARIUCIC DI TR 9 fbar e

[Question ID = 220][Question Description = Q28_ASTE_PB_NAIR25FEB]
' 98% of accepted rate / idgrd &I Bl 98%

[Option ID = 877]

2. 96% of the accepted rate / I G Pl 96%

[Option ID = 878]
3 94% of the accepted rate / i &I BT 94%

[Option ID = 879]
4 104% of the accepted rate / ﬁlﬁp_dﬁ? PT 104%
[Option ID = 880]

Correct Answer :-

*  98% of accepted rate / Tidrd &I DI 98%

[Option ID = 877]

Variation beyond 150% of the contract value requires the sanction of

FDI Hel & 150% U 3Hfeh Ue-a¢ & (o0 [ham! HSRl I 3Tl gid!
8

[Question ID = 221][Question Description = Q29_ASTE_PB_NAIR25FEB]
' Tender Accepting Authority ) [fdar |ieR &3 e uigsR]




[Option ID = 881]
2. PHOD / 4l Tg3{isl
[Option ID = 882]
. GM/SEg
[Option ID = 883]
“ Railway Board / ¥dd 9I5
[Option ID = 884]

Correct Answer :-

* GM/SiuH

[Option ID = 883]

Administrative approval of competent Authority for incurring expenditure
is accorded at this stage

Y WR R oY 63 & U Ga UIiUhRT &1 U=rgfe HoRl af wiidl &
[Question ID = 222][Question Description = Q30_ASTE_PB_NAIR25FEB]
. Abstract Estimate / TeR¢de TE[HE
[Option ID = 885]

2. ) Detailed Estimate / Sicts TR HE

[Option ID = 886]

* Revised Estimate / Xarg=s u&dtae

[Option ID = 887]
“ | Completion Estimate / S UK He

[Option ID = 888]

Correct Answer :- De|eted





